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Previous paper exam (writing part for last year)

Question | 1 | 1 | Slgadt
The ball shown in the figure has a (0.3 kg) JSadb Lisall 8,51 AlsS LS
mass of 0.3 kg. and the Earth’s mass is . (6.0 x10% kg) Slus 2)YI Ay
6.0 x10%* kg.

a.What is the gravitational force on Earth due to the ball?
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b. What is Earth’s acceleration as a result of this force?
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Question 3 3 Jaal)
An arrow is shot at 30.0° above the Sgiuaall 393 30.0° Dyly pgav 3] o
horizontal with a velocity of 49 m/s, Lo .Bugll Cnasd <49 m/s ds w23V
and it hits the target. What is the S el 4] Jnaan i)l (gl
maximum height the arrow will
reach?
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ing on the ring?

Th rces are acting on the ring
h n the ﬁg e. Calculate the net
for
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Five forces are acting on the object 3 gl puadl e 593 uas S5
shown in the diagram below, look at & ealy S8l J) il ¢ oGl Jakaseal)
the figure and answer the following AJ) Ay
questions:
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a. Is the body accelerating on the horizontal axis X?
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b. Draw on the graph vector B of the force that cancels force A.
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d. What is the resultant force after adding force B?
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Tw! ' rizontal forces are exerted on a S By 3 Ciuad| ek S peh
smootz Targe box placed on a AN @aie Gulel Zlaw S Fo4090
frictionless surface. The first force is 210 | . ¢aed 0lxdl 210 N Wyluids (S oY1 542l

N to the right. The second force is 170 N ol 170 N Wyylude 451 59allg
to thee box is initially at rest. Aladl (3 LSl Gguaall 9950 . jlull
Five seconds later, its velocity becomes ol2b 6.5 m/s dgaxiall dicw Zuasy

.5 m/s to the right. 0193 Luwad das (el

—Find the mass of the box
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b. If the surface that the box was moving on was replaced with a rough
surface, calculate the coefficient of kinetic friction of this surface that % @ ,1 é LZe
\

makes the box moving with - S A=
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